CBSE Class 9 Maths
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SAMPLE
QUESTION PAPER - 4

Solved
Time : 3 Hours Maximum Marks : 90
. SECTION ‘A T
1 (© (a+B)(a-B) = a*~(<5)
=a*-b.
2 (D)2
3. (C JEEA g I-iusi[li}
{ ’ L ( -E] = ms I m
So, the coefficient of ¥= m"[-%]
m
= 1
4. (O)4 1
B SECTION ‘B 1
5. (4x + JBy) (4x - VBy) = [(4x)* - (\By V] 1
=165 [CBSE Marking Scheme, 2012] 1
6. Remainder = p(2) ba
pi2) =2'-3(2)* + 7x2-10 b
=16-12 +14-10 15
=8 1

7 () Pl - (2 3) [x“;’r} [j

= [I*_l‘) (.r" ) %

=[x=-

=

]' [CBSE Marking Scheme, 2011, 12] }
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L &
A c

Let AC = BC = x unils.
Also, AC+CB=AB W
2AC = AB (- AC = BO)1

AC = % (AB) Proved. %
9. Given,

£ZCOA =82°

ZCOB + £BOA =82°
ZCOB + 35° = 82° (- £BOA = 35%)
ZCOB =82°-35" = 47° 1

Similarly, £DOB = £DOC + £LCOB
87° = ZDOC + 47°

ZDOC = 87° - 47° = 40°. 1
[CBSE Marking Scheme, 2012]

OR

{: 1“' ﬁ'
F

ZAPR = ZRPQ = 38 {ﬁns{e h]sech}r] 14

ZAPQ = 38" + 38° = 76°
£FQD = £PQC = 104°, (Vertically opposite angles) %
ZAPQ + £PQC = 76" + 104° T

= 180"

Since, sum of interior angles is 180",
AB || CD. %
[CBSE Marking Scheme, 2012]

10. 50m

s0m B
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JEr e

|

n (BT - (] + (5] + 26

=5+ 2J6 1
(B} = () + (8] -0

= (VZ+43) +(\5-+2)" ::::ir-m .‘& 1




x-1=-[2x-8) 1

—
= 3x=9
x=3 1
[CBSE Marking Scheme, 2012]
13. Factorsof 12=(21, 22, + 3. 24, 26, £ 12) ¥

plx) = 6 = 2527 + 32¢ - 12
p(2) = 6(2)* =25(2* + 32 x2-12

=48 100 + 64 - 12 %
=112-112=0 L
& x= 2 is a zero of p(x) or (x - 2) is a factor of p{x) Y
6x° - 257 + 32x - 12 = 6x(x - 2) - 13x(x - 2) + 6(x - 2) %
= (x-2) (6x°- 13x + 6)
= (x=2) (63" 9x - 4x + 6) ]
= (x = 2) [3x(2x - 3) -2(2x - 3)
=(x-2) (2x - 3) (3x-2). [
OR
(x +y +22) [ + o + (22)° = xy = 24z - 2x2),
By the identity, (@ + b + ¢) (@® + I¥ + - ab - be - ac) 1
=@ +F +-3alc
=X+ +(22)° - 3(x) (v) (22) 1
=r"+_1,r3+33'1'-6_tyz 1
14. (@+b+cf =a*+ 1P+ &+ 2ab+ be + ca) 1%
9
-ZBIHZXE W
(@+b+c) =2804+9=289
a+h+c=J289 =17 1
(@+b+0) =17 = 4913. 1
[CBSE Marking Scheme, 2012]
15. £DBC = 180° - 40° = 140° (Linear pair)
£CBO = %znac- % s« 140°
=70 1
ZACB = 180° - (70° + 40°) = 70° %
ZBCE = 180° - 70° = 110°
(Linear pair)
£BCO = % x 110° = 55° (Angle bisector) %
ZBOC = 180° - (£CBO + £BCO)
= 180° - (70° + 55%) 1
= 55°,
[CBSE Marking Scheme, 2011, 2012]
OR
A
B
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Solutions

In AABC, as AB is the greatest side
= AB>BC = ZC> £A. -(1)
AB> AC = £C > £B «(2)1
On adding (1) and (2), we get
2LC > LA+ £ZB
2.C+ 20> 2A+ 2B+ £C 1
34C » 1807
£C > 607, 1
[CBSE Marking Scheme, 2012]
16. In triangles APB and AQB,
ZAFPB = ZAQB = 90F
ZPAB = £ZQAB (Given) 1
AB = AB o
AAPB = AAQB %
BP = BQ {C.RCT) 1
17. A
D
B C
£DBC = 2£DCB {Given)
DC =DB (Sides opp. to equal angles are equal) ...(i) %
In AABD and AACD, AB = AC (Given)
BD =CD [from (i)] %2
AD = AD (Common)
AABD = AACD (555)1
ZBAD = ZCAD yepot) W
Hence, AD is the bisector of ZBAC. Proved. %
18. In APQS, PQ + Q5 > P§ (1)1
(Sum of any two sides is greater than the third side)
In APSR, PR + 5R > PS5 =(2)
Adding (1) & (2), 1
PO+ QS + PR + SR > 2PS
PQ+ QR + RP > 2P5. 1
[CBSE Marking Scheme, 2012]

19, T \F
) \/z \ 7>
—— / H
i 35" —3 1
4005

40° + 35° + £1 = 180° (Sum of angles of A) %4
75% + £1 = 180°
£1 = 105"

¥+ 21 =180° {LP)%
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x = 180° - 105° = 75° Y

Ll = /1 =105° (Alternate angles)
407 + 105° + y = 180" %
145° + y = 180°
y = 180° - 145° %
= 35° a
15414413 42
m =—_— s — =
2 5 2l em ¥
Area of AABC = \fs{s-aj{s-b}{s ~c) %
= 21x6x7x8
= 84 cm? %
Area of parallelogram = Area of AABC
= 84 cm? %
Let the height of parallelogram be ht
hx14=84 el
84
h-'ﬁﬂ-ﬁtﬂ'l. %
[CBSE Marking Scheme, 2012)
@
B SECTION ‘D P
- Wi _ 7 -\
‘ JI0+33  Vi0+v3  VI0-—V3 k
_ 7430-21
i
7(\30-3
={—?1=Jﬁ-3 %
Wi 31 -3 .
JiE-ﬁ-QZ Jiﬁi’gi JiS-BT.-'Z
33094
T 15-18
_330-18 _
S =6-30 %
25 _ 2B &-\B "
;6+35 34-35 ;6-35
2/30-10
e = 230 - 10 %
73 W2 245
Now, m- T -m=m-3-ﬁ+&—2ﬂﬁ+lﬂ %

=
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Solutions

(i)

(i)

OR
0.714285...
7) 5.000000
-49
10
-7
30
- 2B
20
-14
60
56

=jjun
g
g

9 s
T = D81

5

Thus, three different irrational numbers between 5 a

0.767076700767000767..... and 0.B0800800080000.....
Number system

(iii) Those who are irrational in three approach get full in their efforts,

22,

& -@) @)

=" @) - -

B -67-%
() =@ %) =24

rconiing o 8. (B) 3]

(v2)

8,35

1

2
27

.
27

25

1+1=2

b

nd Ig_l are 0.75075007500075000075......,

= &R R

=1
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23. Let, pix) =x*=ar* + b
P-3x+2=2F-2r-x+2

=x(x=2)=1(x=2)
=(xr=1) (x =2}
[r 1) and (x - Z) are the factors of polynomial p{x). 1
p[]}-l" a1’ +b=0
=l-a+b=0 (1)
p2)=2'-a2) +b=0 1
=16=-Ba+b=0 A2} 1
Subtracting (2) from (1), we get
=15+7a=0
15
ﬂ"?
Put the value of a in equation (1)
15
l-? ==h b
-
8
=2 b:-?- “
1
24. bt 7 =B
2
(I+%J = ).'z-l-% 4 Ix:ti
2
(x+1] =23 42
x
1
(x+-] = ,‘E =5 2

(:ﬂ] =2 s el o34
(5 = x’+% + 3{x+l]

X

125=x’+l +3x5

©
1
1.1|:u_J:J‘w\»JlrJ 2
25. @+ +C-ab-be-cn =0 (Multiply by 2 both sides)
27 4 2P + 20 - 2ab-2bc =20 =0
(@* + 1P - 2ab) + (IF + & - 2b¢) + ( + 0* = 2ca) = 0 1
(a=bP+@=-cf +(c-a) =0 1
" @, b, c are real numbers,
So (a-bPF =0,(b-cl=0and (c-a)=0
— a=-b=0b-c=0andc-a=0 1
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Solutions

=5 a=b,b=candc=na 1
= a=b=c
26. The points A(- 3, 0), B(5, 0) and C(0, 4) can be plotted as shown below :
Y

4010, 4)

Figure formed is a triangle ABC.
Area of AABC = % x ABx OC

Area=%x8x4

As, AB = 8 units and OC = 4 units
: Area = 16 sq. units, 2+2
5
L1+ 23 = 1807 (Linear pair)
L2+ £4 = 180° (Linear pair)
Ll + L3 = 2% £
But, 21 =22 {Given)
= f3=/4
In AOAC and AODB, 1
£3 =4
ZAOC = £DOB (V.O.A) ¥
0A =0D (Given) %
AOAC = AODB (ASA)1
OC = 0B (cpct) ¥
= AQCB is an isosceles triangle b
[CBSE Marking Scheme, 2012]
28. Given : AB =PQ
BC =QR
AM = PN
To prove ; AABC = APQR
Proof : BC =QR (Given)
1 1
ZBC = IQR

(.« M & N are the mid points of sides BC & OR, resp.) 1
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Now, In AABM & APQN, AB = PQ (Given)

AM =PN 1

BM = ON (from eq. (1))

AABM = APON (By 555 rule)

Now, In AABC & APQR, AB = PQ (Given)
£1=22 (From eq. (2) 1

BC = OR (Given)

AABC = APQR (By SAS rule) 1

m

4b + 75" + b = 180°
5b = 1
=_& =
b= 1

POQ is a straight line

?5‘1-&-‘?

=

= a= 1
Also, a 180°

= (b =180° - 84°

= ap ¢ = 48° 1
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(i)

EF||BD =+ £]1 = £2, £3 =24

(Corresponding angles)
But, L= /4
£3 =21 %
= FC = EC (Side opp. to equal angle)
CD-FC =CB-CE
= DF = BE Proved.
AD = AB,
£D = £B=90° ¥
AADF = AABE (5A5)1
= AF = AE, 25 =26 (By cpet)l
(ii) In AAMF and AAME,
AF = AE,
AM = AM (Common)
FM = EM (Given)
AAMF = AAME (555)
L7 = /8 (By c.pct)
LT+ £3 = LB+ b
= £LMAD = £MAB
= AM bisects #BAD. 1
|CBSE Marking Scheme, 2012]
31. In ARTS, RT =5T
£TSR = ZTRS {Angles oppmue to equal sides are equal)
(1) %
£l = /4 (V.0.A)
= 2L2 =23
= 22 =23 -(2) %
Subtract eqn. (2) from eqn. (1), we get
£TRS- 22 = ZTSR- 23 \
£TRB = £TSA ) 1
In ARBT and ASAT, £ZRTB = £5TA (Common angles)
RT = ST (Given)
ZTRB = £TSA (Proved) 1
ARBT = ASAT (By ASA congruence)
= RB = AS (Bycpct) 1
|CBSE Marking Scheme, 2012]
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